(kg7 ) t/ )= (kg/t)
coD | 133.8 130.9 | 144.9 kg/t
T N | 53.4 51.7 | 57.2 kg/t
T P | 11.8 11.8 | 13.1 kg/t
16 (54 )
( )
= ( )1,400Kg/( )1,000Kg=1.40
= ( )1,370Kg/( )1,000Kg=1.37
13
10
4 11
10 25
( )
3 1




-1 4 11
3 4
19.1 20.6 20.8 21.5
19.9 21.2
1 8.27
:9.14
9.14/8.27=1.11
(€H) 1,000 kg
1.4 1.37
( )
CoD( 1g ) 170 mg g 170 mg g
CoD( 19 ) 67 mg g 67 mg g
63 % 63 %
CoD( 1g ) 70mg g 70mg g
1,400 kg >< 0.01 =< 170 mg g = 2.4 kg
1,400 kg >< 0.99 =< (1 0.63)><67 mg ¢ = 34.1 kg
1,400 kg < 0.99 < 70 mg g = 97.3 kg
1,000 kg 133.8 kg
1,370 kg >< 0.01 =< 170 mg g = 2.3 kg
1,370 kg >< 0.99 =< (1 0.63)><67 mg ¢ = 33.6 kg
1,370 kg >< 0.99 < 70 mg ¢ = 94.9 kg
1,000 kg 130.9 kg
1.11 144.9 kg




)TN 1,000 kg
1.4 1.37
( )
35 % 35 %
( : =6.25:1) (35/76.25) % (35/6.25) %

2.5% 2.5 %

1,400 =< 0.35 = 6.25 78.4 kg

1,000 > 0.025 25.0 kg

1,000 kg 53.4 kg
1,370 =< 0.35 = 6.25 76.7 kg
1,000 > 0.025 25.0 kg

1,000 kg 51.7 kg

1.11 57.2 kg

3)T-P 1,000 kg
1.4 1.37
( )

1.2 % 1.2 %

0.5 % 0.5 %
1,400 =< 0.012 16.8 kg
1,000 =< 0.005 5.0 kg

1,000 kg 11.8 kg
1,370 =< 0.012 16.4 kg
1,000 =< 0.005 5.0 kg
1,000 kg 11.4 kg
1.11 13.1 kg




